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1- Write the missing numbers :

2o Licadl 5 oghi ) 453550l

NS S | 8-).-23‘ "
51 0Y

sbo oyt Ldbws uldS e

62 | 65 | | 69 |70
-51 52 ‘56‘57\— | l60
42 44 —1 47 ] 49 |
| 32| 33 | 35 38 40
21 24| 26| 27| | 29]
| 12] 13 15| || 18] 19 20
1] 2| 4] 5] 7| 910
2-Write the missing numbers on the number line :
51 | (= }_ 54 | [55]|=— |==| |58 ||59 | —
3- Write the before numbers:
— 78| |== [53]] (= |&4] |= |49]]
4-Compare using ( >, <, =):
[43]  [34] [50 60 | 52| |47
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5- Find the result, then connect with the sutable result:

20-3 | ~- | 1245
®

11+9 14+6

6-choose the correct answer

= 44<..... (60,43 ,42)
m) 65less1than............ (64,66 ,63)
7- complete by Writing the missing numbers:

9- Write the numbers:
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10- Complete by Writing the missing numbers:
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63 = 64 = @ 70
11- Write the missing numbers on the number line :
0| ) B [12][1] 2 ﬁst& 78| [=]

12-Write the before and next numbers:

67

13- Find the result, then Compare usmq( > < =):

[5+0=. [7-7=...
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14- Fmd the result then Compare using ( >, <, =):

Thirty- nine 39 | [s50l( ) |38

15- Complete by Writing the missing nhumbers:

(=) 73 _(s)|65 (<)M






